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-SAINE(EM) 60,0003 1 * 128 720
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SN BRAAYA
T AE2YAY)
el QIEAR2AHI(St=EAIY EE831) (Sl &&)
RA - BH SRS - LAY - BAS ofl &t A HIDEZ
-SUIE(AMOIZXH)
100,000& 1+ 12& 1,200
ot 2 e
150,000& x2&+ 123 3,600
- HASAH| 170,000& x2&* 123 4,080
-l 100,000 x2H 122 2,400
- ARE 125,000& =2« 123 3,000
-EEY0E 2,540, 1603 2 *120% 6,097
- AOtE A 18,6913 2 10 2,374
A2l
23,0843 *15A1 2H2H + 122 8,311
- B4 19,208
“EAEE EH 184,692 x 1 +52& 9,604
-SASHCIAIE 184,6923 x1H 522 9,604
AASHIE XS
408,3003 x1E 4] 1,634
OSSR (SHHAYYR) 199,718
2= 2,439,583 «4F 122 117,100
- g2+ 2,439,583 *4H x100% 9,759
- d2EoRtE 130,000 x4 H 122 6,240
[ERSESE = 120,000& x4« 123 5,760
A2 REE
21,5983 *4H+15A[ 2t 122 15,551
SR (HY2Z R
172, 7923 »4H 152 10,368
- HAF A 140,000& x4« 123 6,720
- ot=Xel g
150,000 x4 x 122 7,200
-GEA0= 2,439,583 *4H x120% 11,710
- IS A 112, 7283 »4H+ 102 4,510
&g 4,800
-8 <Xt 40,0003 x4« 12& 1,920
-SLIE 20,0003 4 =128 960
SIS (HMAA)
20,000 2 * 122 480
-RLINE(SMAA)
60,000 2~ 128 1,440
204 MRt FH| 49,260 46,020 3,240
02 ZZ22 x| 49,260 46,020 3,240
OXZEXHI 49,260
55 250,000 x1& 128 3,000
6= 175,000& x11Z 123 23,100
= 165,000 x5 * 122 9,900
892 155,000& x5« 123 9,300
gz 165,000 x2& * 12 3,960
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